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Case 1:

*  When some part of a mixture is replaced with water and this
process is repeated
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A container contains 60 kg of milk. From
this container 6 kg of milk was taken out
and replaced by water. This process was
repeated further two times. The amount of
milk left in container is
T&h dde #H 60 kg %’Iﬁﬁ'6kgqg
e [AwTeT T ?ﬁh 34T &
ST ST §1 I8 9fhdT sPmar & arR
3 #r St T AT H AT T g QU
$I AT qarT| 7
a) 34.24 kg b) 39.64 kg

43.74 kg d)47.6 kg




From a container, full of pure milk, 20% is
" replaced by water and this process is
repeated two more times. At the end of the
N../\M—-_—- . .
third operation, the quantity of pure milk
reduces to

TF qod A § 20% Yy H AwT

T 9 STer AT AT & $Hqﬁm1

N A IR AT S smar &1 Y

HTNRAST F 3T A, Y qU Y AT g
FT frae & s &2

a) 40.0% b) 50.0%

_A51.2% d) 58.8%
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From a bottlefull of boric acid, 2 1S replaced

. . 1,
with water. From this mixture, 5 is replaced

with water. What is the concentration of
boric acid now?

§I® 3 @ 9l ai9a A & s Tl
e FT 3T & el St fem aram|
5@ s F & R C af smer R ¢
9Tl 3T e 4|

60% b) 55%
c) 75% d) 62.5%
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A container had 80% concentrated solution.
_,__1-20%,of this solution is replaced with water.
5 One fourth of this mixture is again replaced
with water. What is the concentration of the
solution in the container now?
H 80% &AET arem fAsor
20% 8T & grell & deol
av fasor & ue 9l ser
# Y gt & agar o I B39 Tae
H fraet wfayd A™T arer Fsmor 82
a) 45% 48% c)50% d) 60%
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A container has 60 liters of 80%
concentrated solution. If X liters of this
solution is replaced with water, the
concentration reduces to 60%. Find X?

frdY adT & 80% dMSIYT aTelT 60 ollex
fAsor 8] 3P 3WA F X ollex fAsor #
Uil ¥ deor fm Sar & af e
60% B SITdT §|X HT AT 137

a) 10 b) 12 /15 d) 20
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Several liters of acid were drawn off a 54 L
vessel full of acid and an equal amount of
water is added. Again the same volume of
mixture was drawn off and replaced by water.
As a result the vessel contained 24 L of pure
acid. How much of acid was drawn off initially?

FE oleT IFAT F JFT T M 54L & T

FdT fASTAT =T AT?
a)12L b) 16 L
18 L d) 24 L
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An 8 liter cylinder contains a mixture of O, and
N,, the volume of 0, being 16% of total
volume. A few liters of the mixture is released
and an equal amount of N, is added. Then the
same amount of the mixture as before is
released and replaced by N, for the second

~2L time. As a result, the O, content become

of the total volume. How many liters of
mixture (in liters) is released each time?

T 8 WfleT & & & 0, 3k N, &1
fArsor ﬁmﬁoz 16% @ F& ofiecx
fRsror Y araravor A oz far e ¥ sk
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5 liters jare drawn from a cask full of wine,
and cask is then filled with water. This
operation is repeated two more times. The
ratio of the quantityg_f\wine left in the cask
to that of water is 27: 37. Find the capacity
of the cask in liter&’ ™ (1)

W T N DT #H T 5 X awd
e & X AT ST §] I§ w1 Q)
IR eI Sar 3 sEd i &
T 3R 9l F U 27:37
ST 8] e & 9 Y e7ar admsT]

a) 15 §t§?50 ¢) 25 d) 30
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The ratio of milk and water in a mixture is
5,((7: 5.)How much part of the mixture should
be replaced by water so that ratio of milk

and water becomes(2: 33/ 2_

uh AHoT A gy IR U F oI

7:5 & aor & fhas smer F A

HT 3T g1 UTell STelell aifgq aifd gy

3R el FT T 2:3 B Sw?

1 93 42
45 25

22 1
35 35
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The _ratio of milk and water in a mixture is

We withdraw 20 It mixture and
added same quantity of water to the
mixture, then ratio becomes 3 : 2. Find the
initial quantity of milk.

frdlt fPsor & g 3R 9l s
13:7 8] &As 20 ofeX Asor Aewd #7
3T g1 Ul Ster fem ar Jre[urd 3:2 @
| AT F gy i AT fha A
a) 170 It b) 185 It

\f 169 It d) 260 It
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A can contains a mixture of two liquids A and B
in the ratio, 7: 5. When 9 litres of mixture are
drawn off and the can is filled witl{ B) the ratio
of A and B becomes 7:9. Litres/of liquid A
contained by the can |n|t|aIIy was tn?%
qde # g A3 g B F 0T FT Iequra
7.5 &1 919 9 e FT HHOT qET FAFrT
AT g IR T BA T ST § Y AR B
FT AT 7:9 8 ST g1 A qars ywRe
# ga Afraa ofiex ol

a)10 b) 20

o421 d) 25




A container contains two liquids A and B in
the ratio_7:5. When 9 litres of mixture are
drawn off and the container is filled with B,
the ratio of A and B becomes‘l_:é How mm
litres of liquid A was in the container initially?

Wat-i?r#a’ra-q'AaﬁTB75a:m
#F ¥ o 39 BHor A @ 9L PFaT S
t 3R 39 T W g9 B AT AT §,
@ AR B F AU 1:1 @ AT B
aﬁaﬁma#aan?rmmaﬁ

a) 26 |:>)16E J&az <:|)26Z
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A vessel is filled witlﬁiquid 3 parts of which
are water and 5 parts syrup. How much of
the mixture must be drawn off and replaced
with water so that the mixture may be_half

| | 15



Case 2:

When some part of a mixture is replaced with another mixture




A container had 80% concentrated solution.
20% of this solution is replaced with another
solution which is 15% concentrated solution.
What is the concentration of the solution in

)
<
R0/ Y the container now?
< frdlY IdeT F 80% HMET araT fA#OT 3] W
| o

IS/

2 ﬁ'ﬂWﬁ_ﬂ? 20% aamﬁ;’r 15%% mg
HOT { Gl IAT g AT
>eg—9 5_>(/"'3'/—67 freer wfdera AT arem s §2
67% b)76% ¢)64%  d)79%




A bottle has 40% alcoholic solution._One
L‘O / Xéa fourth of this solution is replaced with water.

Now, one third of the new mixture is replaced

—

Ll with 12% alcoholic solution. What is the
4@ alcohol percent in the resultant solution?
ﬁ?#%;ﬂaa'ﬁ'4ozﬁ¥gpgﬁgﬁg ﬁvm%;ﬂ
' g [HAUT &I Uk gqel
—Z:X?PO/-“"-X’H"" =2/ St #) R T BSOT 7 v fEE 12%
ey et e et AT F |y S e Sman
g 39 a¥ Ravr # R fhas wfaea

gref?
a) 16 b) 20 \1{24 d) 25
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A bottle of whisky contains 42% alcohol.
Some part of this bottle is replaced by
another bottle of whisky which contains
17% alcohol. Now this mixture contains
27% alcohol. Which part of bottle has
been replaced?

fCgrhr T v Iidad A W AT AET
42% @ aad ¥ Fo smr FEh
ﬁmr»r arr gE add ¥ R R
o e Y AET 17% B 3
a N AET 27% B| dAdT F
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A bottle full of whisky contains 40%
alcohol. 180 ml of solution from this
bottle is replaced by another bottle of
whisky which contains 19% alcohol. Now
this mixture contains 26% alcohol. What
is the capacity of the first bottle?

fCgrhr 1 9y g& vH dldd H R
N AT 40% @ dGT ¥ 180 ml
Cgeh A = didd § W
faar T, o IRIE Y AT 19% @
T SHHA AT A AET 26% & Tgal
arely Sider Y &THaT F41 87

a) 90 ml b) 240 mli
c) 300 mi 270 ml

| | 20




Case 3:

*  When some part of a mixture is replaced with another mixture
of different quantity

100 Lt
20y | MeT | |0/

10+ Uo 36t

:l-;_b'
5 37




From a vessel containing 80 liters
of 80% concentrated milk, 20
liters is taken out and 40 liters of
40% concentrated milk is added.
Find the concentration of milk
now:

fAsor & s 80 X & aTd
A gy 80% & TEA ¥ 20
ey fAwer FT 40% U arem
fsror 40 e @rar feam o
39 g &1 giaerd a3
a) 50% b) 60%
W64% d) 70%

| | 22



A container has 80 liters of a mixture
of two liquids A and B in the ratio
4:1. If 20 liters of this mixture is
taken out and 30 liters of mixture with
A and B in ratio 2: 3 is added, find the
ratio of liquid A and B in the mixture.
freft oda7 & 80 ofex fAsor §
Sod g@ A TUT B 4:1 F I
# §| 3R @ ¥ 20 ofex Fsor
e foar wr 3k 30 oieR
frsror st AT AT FEA g9 A
aYT g9 B FT 9T 2:3 @, df &4
A d4T B I 31?|tn?r fraar &
ST

a)2:3 b) 1: 2
c) 3:2 2:1

| | 23
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A container has 120 liters of a mixture of
two liquids A and B in the ratio 4: 1. If 20
liters of this mixture is taken out and 50
liters of liquid B is added, find the ratio of
liquid A and B in the mixture.

Rt ada & 120 ofiex Beor § Swa
gd A TUT B 4:1 & U H g 3R
20 X WA PFd o
50

| | 24



200 liters of mixture contains milk and
<00 _liters
water in the ratio 17: 3. After the addition

™ nJ of some more milk to it, the ratio of milk to
water in the resulting mixture becomes
\7 . %=204 7: 1. The quantity of milk added to it was
200 ofieT & fsor 7 qur ik ol @
UoL{ Yu Jqurd 17:3 ¥ A U1 AR gy
— , fAema & a1g, gy 3R 9l FT U
A A 7:1 @ orar ¥ @ BT gy A
Al S AT AT
a) 20 %}0
c) 60 d) 80
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The ratio of milk and water in a mixtureis 3 :

8. We added x It of milk to the mixture then
ratio becomes 5: 4 and we added 18 It
water to the mixture, then ratio becomes 4 :
5. Find the value of x.

frdt @sor & qur AR awl @ e
3:8 ¥ gHe FHOr # X dex gy e
fear & 7§ e 5:4 & | Ik sw
T T # 18 dex e A W I8
AU 4:5 & I dr X _HT AT TA3T?
a)141t  b)251t 281t  d)211t
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Two vessels A and B of equal capacities, contain
mixtures of milk and water in the ratiog 4 : 1)
and| 3 : 1)respectively. 25% of the mixture
from A is taken out and added to B. After mixing
it thoroughly, an equal amount is taken out from
B and added back to A. The ratio of milk to water
in vessel A after the second operation is:

AT &TACT 1 ar doiet A 3R B 7 g 3R
qrelt FT ST FAM: 4:1 T 3:1 A G| A H
d¥ 25% fA#or e ST § R A B A
STell AT 8] T B & & 25% A1 RAren
ST s ANsaT AT 8| SH AT &
9g g0 A # gy 3R el @ requrd AT

b)83: 17
c)77 : 23 d)81: 19

| | 27




One liter of water evaporated from 6 liters of a
solution containing 4%  of sugar. The

600 0 WL percentage of sugar in the remaining solution is

T ol gl 6 ofleX fAsor @ aiftya grar
Sb\y@ g S 4% ol @t &1 v Rasor #

At F1 gfaera Fa«r gpm?

a) 1% b) 5% 4.8% d) 3%
;2\40

24 Xsw
Sfseo—




One liter of water is added to 5 liters of a
209% solution of alcohol in water. The

strength of alcohol is now

20% QRIS dref 5 oflex fA%or & =
e gl Srem ST @1 3T R &7
yfaaa Rraem &7

a) 12 % % 16.66 %

c) 16% d) 24%
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